AS & Sol

[

1. 0 gy Lk bounday  erd au (vadont el (0, 4) o (g, st)

S0 s e imvovdouad

-5 W™ tY 2 u(nan, begng.

Y *Vo\ Pk ,\wU;vé,M. ;ﬁ.x.,eJHﬁﬁW\J\xﬂvuvn?:f;
VT
EJ:;Q,J Haw = vanakily F) =
2qm MItrmn g Y (ﬂ\u U.U.
avu ..WM M ’
W rar Gy 20 ond banday 8
C,A)&v =0, Wles) =24

No Sa” v +<¢ . Ne nave diffun

o
. | * Splom whiv s oy
hos  dug ryavized  (NBEGET amunk buny bt tormnan

We  (ant neave a o\ hFaeds e TESINING

i .@NO. | n{u?ag
2 In Q\C(/of(f.?.. e A v s ;7 Balvahetlds hnvrﬁ Lo Uy

) ﬁ Y N i |

=L e W =1 + f. S r_\ ) 4\ -

$ =5 umv oL Verf Y2+ T ¥ =0,

Replae ko )y Erey 4 L

er J(9) t h(z)
Clingd
Y(8.9,2) = RESYQ o)y Z(2)

The \vh_uga\r/o» va\_\.,,w v
4 22 , [ ¢ - ¥
2 A2+ =i _)mNu = A — K Az Cont-
,[ de@ . - 2
§ 3¢ " (®) +m =0, D= oh

D U\N 1 2\
T3 (636) 1 E96) w a0

| T/.Pb.h 20D \Tg .m‘n.v\ssw \Tv/?ur 92»@ _, m % Ve anu.,
Nl e



mefsso@s.r 8 soln

(72 ¢ 02) Glox) = ey - =0

<P eoue

m,o_crmam e edn em Fouvier | .
Q= (43 gocpy o (r-77)

RMIUN
let  P- (k-rr) =  ple-r/) Cos®
2 Glrr) =37 pds ﬁ&mnﬁmv. @Qv:alw\\ e
7 —Ji—7
Qrl p*-K
3 Y —Lpl¥=r7]
kL BT e P P
(4m)* 2 “a o™= k>) x L)r—r]
]
integmls Ay PSEi_mx_.hf.;a thean .
U J I d & .

?93@«3_.\/0 “+h e

¢ @mw\h@m to 0)

(ghift ~ the ._ou_nn

- ) ra

'ﬁ;’ m\m%:s\l*\\ pd D
wv\xp i \ | ?/

poles -
1 |

K| g
o b £

14 -

g lr-r|

@:1 r-ref

b

umﬂ,.s,a:i G(r r/)

A1 lr—v\




9. Q:P:mmn_ mos\e:«r,:m .,wwbm.. 3 mn%;n g $trtad

X ==
omra’ S(1end')

i

' Ae, the charge Vs fmile  ye Can e the qiual

J U ,
b-c. w\% &m -2 0 at 2nfria oftas s

(Note tnat  an tre class \C; conlved Hhe pwohlem

[
o vaO ,W)%aﬁ.nfp.u

0S¥<® Coyr G =0 aky =

the Green’s functiom 13 :

LY
-

GCo,xr) = ol
| Ly
A = [ ] e (r/)rdr’ 2ing d 6 dg?
| } M A |
| w [povl% = T 4’9o ees (o—6")
_So, & (5 u@\o(pm.\ . o ley 0% <

N N
|2+a%— 2+w'8inD .

ﬂDJ\..,. 1@ = v < A 8 e - g....ﬁa%.%a -,Tw.. IQP&V.‘.\HWLQ G

eith— 0 (4. 8) =g
- ot

- sl
S Ly ) = 3 Doyt Preer®)
{ Co =2 k\P
e — wfiﬁvév P,y dw e =242
| oot s | B _ bl
3 Ceo cr=—r7T8 .. ..

3. 9a_ ne of e olacces  Ane Prae pace Green

Linchon for wale ﬁsn._u_g has  heen dexived .

6 (7t 7,t) = Slt-t +17-+71)

-_

(=4am) |¥-7"|




The go\wktom mo&.m%_,ﬁ/w TOJ\SO@\CS&E b.c.
P, d 50 as T,
Now, G (¥t v 47) —0
0Tt , 7t —>0
Seo, \NQC\CA& golukion °
b (v t) = \vw%m;@\%\@g\ %?F&iﬂux;vm@«?\vﬁ\

—am [ Y-7]

o ¥ - 0

—
J

A [Hdr’sinp’dode’ @ (¥t tlT-7 1
~4Tee 12—
Thig 1s Hhe Lienard- Wieehert wowﬁ.jm.,&.

We can an\_;\ see howo the ofPert of Source ot Previpys
tngtant 0% Hme Q%hgﬁﬂm _unl.g.ﬂr;o% Q\Wmqu..mim\.

E Solukion of Q.2
For , 3+ Py HQY=0 Wiy= Wpo €
ﬁmmmv.ﬂ?ﬂ ¢q - Qud TRy Arl ken eda Hon km*:\_ nt 2

2
= % Po!)d~n/
010

Givern,  W(xo) = O \
TFhe  guponential Fun b oo nok veish . ( fP A

does not %qgmov-
ighp, Wo =0 .

Henee , WD) =0

Pt for ol s@tlu.

=) &_&e\ l/%\m,ﬁ
=) iﬂ = C1 Y, ¥ oL, hence vﬁzgi k@@igm .



